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QUESTION 1

Which information is required to install the Event Archiver? 

A. Host name or IP address of Agent Manager and of Event Collector. Optionally, Port to communicate to the SQL
Database. 

B. Host name or IP address of XPU Server and SiteProtector group name. Optionally, X-Press Update Server security
mode. 

C. Host name or IP of Event Collector and Port to communicate to Agent Manager. Optionally, IP address or DNS of the
firewall or proxy server. 

D. Host name or IP address of Agent Manager and of Application Server. Optionally, user name and password for the
Agent Manager and the SiteProtector group name. 

Correct Answer: D 

 

QUESTION 2

Which statement is true about deleting a saved report template in IBM SiteProtector? 

A. Deleting a saved report template deletes the saved template only. 

B. Deleting a saved report template deletes the saved report related to the template. 

C. Deleting a saved report template deletes the saved schedule related to the template. 

D. Deleting a saved report template deletes the saved report and schedule related to the template. 

Correct Answer: C 

 

QUESTION 3

How many computers are needed to setup a minimum deployment of SiteProtector? 

A. One computer 

B. Two computers 

C. Three computers 

D. Four computers 

Correct Answer: D 

 

QUESTION 4

NIPS1 agent is a part of the Network IPS group. Web Application Protection policy WAP1 is applied to NIPS1 agent.
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You make changes to WAP1 policy, named it WAP2 and applied to the Network IPS group. 

Which policy will be enforced for the NIPS1 agent? 

A. All enabled security events in WAP1 

B. All enabled security events in WAP2 

C. All of the enabled security events in WAP1 and WAP2 

D. All of security events in WAP2 that are not enabled in WAP1 

Correct Answer: C 

 

QUESTION 5

Which statement is true about modifying and controlling policy permissions in the IBM SiteProtector 3.0 System? 

A. Policy permissions must be set at the global level. 

B. Policy permissions must be set for the group that contains the role they reside in. 

C. Policy permissions must be set for the group that contains the repository they reside in. 

D. Policy permissions must be set for the group that contains the domain group they reside in. 

Correct Answer: C 
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